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DEPARTMENTAL EXAMINATIONS

DEPARTMENTAL TEST FOR THE MINISTERIAL STAFF OF THE
DEPARTMENT OF THE ECONOMICS AND STATISTICS

(Without Books)

Maximum Time : 1 hour Maximum Marks : 40

IMPORTANT INSTRUCTIONS

OBJECTIVE TYPE
Qarer@ M euens efeTTssmer

Read the following instructions carefully before beginning to answer the questions.

eflanmésemdE eflenwel&s QsmLmi@Gh (e Sp&saEmL oifl6]mrsmeT SEUGTONS Ly S56]Lb.

NB: Words of masculine gender in these instructions shall, where the context so
require, be taken to include feminine gender.
@ps <idemssadla e urdlarflar aurtsmssafld, GrasCapu Cameuliger O
uredlenflen aUTiTéensa@EhiD i hiGLD.

This booklet should not be opened till the Invigilator gives a signal to open it. As
soon as the signal is received you should open the booklet and then proceed to
answer the questions.
Qs elamsbsregliomear samsrafluuratiier  ogiwd CQupeaspE e SHpésss.
samaneniiuurert efams@smElideaar dnlugne i@ind elsse e alamstsrElidmar Hpbs)
eflenL_weflés Qgmrigamid.

1. This question booklet contains 40 number of objective type questions. Prior to attempting to
answer, the candidate is requested to check whether all questions are there and ensure that
there are no blank pages in the question booklet. In case, if any defect is noticed in the

. question paper, it shall be reported to the Invigilator immediately, within first
10 minutes after which no request will be entertained.

Qevellamggrer 40 Qamarghl euews olamssmer Qaramg. efarariugrrisd el welss
Gsr_ri@h (e, eflamsgrafier eradwm eflamasend GLib Qubpnidearareur eramuamswb, gCsamib faw
ussmgar / efleamrésdr <iEALLULTDD NHULHeTarareur eramumsD sfuTTégs Qemeraraib.
damgsreler gCsamib Geop @muder elamssraes Qupm Qe ugg B BsERs@eT <iemn
samsraniuurerfl b Asfelss Couammhid. @ignE WYng Csfleldsiu@n Carfismsser gaib gHmsE
QarerarliuLor’ L rg).

2. Answers all questions. All questions carry equal marks.
Syl damssEpégn oL walss CaammBn. omass elamssend Fowrar wHOQUE@TSET
QarenT_enew.
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Candidate must write his Register Number in the space provided on the top right side of this
booklet alone. Do not write anything else on the Question Booklet.

efamanriugrien uHGeuamenan Geucilarmsgraien God auwg) LGs5HD sHEAsar gEalIULHaTeT
BLsde erps CauamBib. eflamgsrafle) Coum eransuid eT(PES &l g

The sheet before the last page of the question booklet shall be used for any rough work.
efenrssrafien seLf LEsSEHDE (per usssHe rough work erpdl uriée 2 LCGUITHSE & Qamerera]Lb.

(a) Each question comprises of four responses i.e. (A), (B), (C) and (D). Candidate shall select
only one correct response. In case, if the candidate feels that there are more than one
correct response, shade the response which he considers is the best.

(b) In any case, a candidate shall choose only one response for each question.

(¢) If more than one answer is shaded for a question, the answer will be treated as
wrong and no mark will be given for that question.

(d) The total marks will depend on the total number of correct fesponses marked in the
OMR answer sheet. (For this purpose, only one shaded circle for a question will be taken
into account for awarding mark)

(a)  g@aGarm damelpegn (A), B), (C), (D) erar preng fenLgar Qar@asuulHdrerg.
AamremiugTrT SeupHled gCsaib e sfwrear ellaLmws Csiay Gew CaamBb. Gamss
Cupul L sfurer ellentser em alamealpE QmUusTs smSlame, eupble ereiefeaL lss
sllwreng erar smEEPiaGerr, SeuslaLew Bl @ srL GaueHib.

(b) erevaurdmiayid, @ amalhe @Cr e elamLmug srar CoiTbhsHEs GCaudmHLd.

© o demelne eemse CopulL el msald efoLwefssiulymbsmd sceiam
sauprensns sMmsILL [, Seueflameilne LG LT auphISILL DI LTE.

(d) OMR e&fenr g grefler @hlasiulL sflwurer efenlseers QuImSE, QLTSS LHLGUETSET
auphsLILED (@@ elamalnd g el Lgdd (GHual) Blipdl L oL w GG LEAWATT o
QLTI SarTddle eT(HSFIS DsmaterILIBID).

Do not mark the answers in the Qﬁestion Booklet.
lenrgsrafler eflan_semersd GO E snL_rg).

Candidate shall not remove or tear off any sheet from this question booklet. During the
examination he is not allowed to take the question booklet out of the examination hall. Only
after the examination is over, he shall be allowed to take the question booklet.

eamranriiLigmyT, edammssreaten arhs @@ LssS@SUD, HesCeur weg SfssGar sarg. GCsia
perLQumid Gurg), elamsgreaar Cairay sl fogedl B GeuefiGu arRss Gede Sa@iwd dorwurg.
Gsirey igbs WearanCr ellenrggrener er(581F Ade SigofésiuBeur. )

Failure to comply with any of the above instructions will render you liable to such action or
penalty as the Commission may decide.

CupsarL  oflejomrseid Csain WSpuu@Coureamd Csiaurmanub ThHEGL s oar /
BL_ally &en&d&E 2-aranra Chifl(Hib.

In case of doubt, English version is the final. ;
alemrésafia ebCssmUN6m, < mde aigeld Asr@asuul Herer alamsster @nureang).
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‘Statistics may rightly be called the Science of averages’ is the definition given by

(A) Croxton AB) A.L. Bowley

(C)  Yule and Kendel (D) Webster

‘grreflamardg sapb weapGu yearelulued eremy sflures smpomd e6m euamrL®DEWLE
shlweur

(A) dprsevien ‘ (B) e.erev. Quarad

©C)  we wHmb Qser e (D)  Qeutievii

Who is called ‘Father of Statistics’?

" (A) Boddington (B) Croxton
(C) - Karl Pearson- AD) R.A. Fisher
‘yarefludwedlen Hheng erem SIeMLP&SLIU(HLIGUT Wiri? ‘
A)  Cumgri e B) - Slyrseven

(C) srred Qwirger D) R.A. Qagir

Which of the following is one dimensional diagram?

\4A) Bar diagram (B) Pie diagram
(C) Cylinder (D) Histogram

SpEsamL_eudmeT e(h LifiorenT eflardsiuL b 6rg)?
(A uleL eflerdslLLib B) el euges elaréssiiuLib

(C) o (mewer (D)  ureue QFsucusid

Ogives for more than type and less than type distribution intersect at
(A) mean _ wB) median
(C) mode (D) origin

@ ureualen Silar auer wpmitd Cuoallan cuer pensaisar Gaul igé QameTEnb ELLb
(A gpref B) QeoLflow
©  ©»sb D) =8

3 ' 117/DD/19
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5. The meanof 1. 92,345, 0.0, , nis
1) ' : : (n+1)
A n(n+ B
(4) > (B) 0
e AD) (n+1)
2 2
I 2B dih noi s , 1 @eupdles grma
n(n+1) (n+1)
A 2 ) V. R
(A) 5 (B) 3
. )
C n D (n+
© = | o =
6. Which of the following is not a measure of central tendency?
(A) Mean (B) Median
(C) Mode D) Range
EpsserT_cuDmET erg) ewICUTEE SieTenalweden?
(A)  gymefl - (B) @l
©)  ©s6 ‘ (D) é&Sss

75 If the mean of 3, 4, x, 7, 10 is 6, then the value of x is
@) At B) 5

.40) 6 (D) 4

3, 4, x, 7, 10 Qeupden syrefl 6 erafler x —e iy

(&) .. 4 B) 5
16 BT , D) 4
8. When the collected data is grouped with reference to time, we have
(A) Quantitative classification (B) Qualitative classification

(C) Geographical classification ' w')) Chronological classification

CeaMssiiul L efleurd Crrsamss Qara(h (sT@GssIUL LT BLSE —————— LGLD.
(A)  erellen suansliL(HS8I50 (B)  uarden cumsLIL(RSSIHD
©) @uLberteuamsliu(Ssi50 (D) srewbsrt sumsLBH SIS

117/DD/19 | 4



i : A The most staple measure of central tendency is
(B) Median

(D) Harmonic Mean

AR

(©)

Mean
Mode

SLp&aea_auDmET vy Hlenass eowICUTEE <iatenal

(A)
(©)

grra

&0

10.  The coefficient of Range is

L—8
A
‘A) L+8S
(C) L-8
e Fflen Gla(Lp ereiLig)
L8
A
&) L+S
© L-S8

11.  One of the methods determining ‘mode’ is

@A)
(B)
wA©

D)

mode = 2 median — 3 mean
mode = 2 median + 3 mean
mode = 3 median — 2 mean

mode = 3 median + 2 mean

Wlemmeu(meuaTeummiaT ‘L& HTenT 2 Fa|Lb (PenD

(A)
(B)
(©)
(D)

wsh = 2 @enL_lene — 3 syl
ws® =2 @enLflena + 3 Fyma]
ws® = 3 e Fleney — 2 Fyma]
wsbh = 3 QeLflene + 2 grma

(B) @eLflaa
(D) @eve syref

L+8S

117/DD/19
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@
12.  Shoe size of most of the people in India is number “7’. Which measure of central
value does it represent?
(A) mean : . (B)  second quartile
(C) eighth decile 41)) mode
@nduredlér 2drer QuEbuTEre  Wwasefler Ursaiuldr Saey T aafldr Gg W
wHuyseid erbg aTaal GOIUSESDgI?
(A)  gymaf ‘
(C)  erliLrmeug udlemorenid D) wsh

(B) @pewrmb srawomenin

13.  The algebraic sum of the deviations from mean is
(A) minimum ‘ 4B) 0
(C)  maximum D) 1
grrefulelmbg ellevssmiseflen s(H e

A)  ©opHsULSD - (B) umub
(C) @fsulsb : D) 1

14. In the case of negatively skewed distribution, the extreme value lie

Aa)  left tail , © (B) right tail
(C) middle : (D) anywhere
erdflenL& CarlL ureuedled efliflbLy FlliLser ctmcmm(r_ia@(@ﬁlugj
(4) @Qrgypd (B) auag ypd
©  poefo (D) aps@usfen

15.  Which measure of dispersion ensures highest degree of reliability?

(A) Range (B) Mean deviation

(©) Quartile deviation \1[)) Standard deviation
<158 BIOUSS SETEDLOILILET SaTEELD SFDED leTenal 6T5)?

(A) &Sss (B) srrafl flevssid

(C) srewrer dlessid (D) Sl efessd

117/DD/19 6



16.

17.

18.

1.9.

If the minimum value in a set is 9 and its range is 57, the maximum value of the set
1s ,
@) 33 A 66
(C) 48 | D) 24
@ LsrLflar ennibs wHli 9, sigen aiés 57, QgmMer BHIGE LI iy
4) 33 | (B) 66 -
(C) 48 _ (D) 24
Lorenz curve is a graphic method of studying
(A) Average (B) Kurtosis
(C) Skewness v'D) Dispersion
QITTEIEN EUEETEUEI] LIL LD ppeuld Spsaart_euphle erang Cgfbg Careraramn? -
A)  spraf ' (B) sl e weray
(©C) CarlL <yemay (D) &spe sjemey
Which of the following is a unitless measure of dispersion?
(A) Standard deviation (B) Mean deviation
40) Coefficient of variation (D) Range
EpssamL §lzne Haeaneusald 6Te) i@ QUDTE SieTanau?
Q) S LafeEsd (B) syraf eflevésid
C)  worgur’ EsCs D) &sa
The range of the set values 27, 30, 35, 36, 38, 40, 43 is _

A) 36 WwAB) 16
(C) 43 D) 27
27, 30, 35, 36, 38, 40, 43 Qaupifler e
A 36 | B) 16
© 43 D) 27
7  117/DD/19
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20.

21.

L

93,

24.

In a symmetric distribution
(A) Mean # Median = Mode WAB) Mean = Median = Mode
(C) Mean > Median > Mode (D) Mean < Median < Mode
FIDEETTE LIFEUEI6
(A) syrefl = QeLfleved # W&EH (B) s&yrefl = QenLBlene = s
(C) syrefl > QevLHlane > @5@ (D) &yref < @eLBlened < W&
Who found correlation coefficient?
(A) Spearman (B) Fisher
(C) = Galton _ 4D) Pearson
ELpsseim_cursaflc ereurmed @U(Hpe s Q& 2 (HeUTSSILILLG)?
A) e QwirCwer (B) Qegr
(C) sméLen ' D) Qwurgen
Rank correlation coefficient was found in the year

W4 1904 (B) 1949
(C) 1952 (D) 1907
srauflengs Qa(p 2 (HEUTSESLILILL 468 (H)
(A) 1904 : B) 1949

=0 R (D) 1907

The value of coefficient of correlation
(A) hasnolimit (B) canbelessthan 1
(C) can be more than 1 qD) varies between -1 to +1
o O noysespeden ererane . 7
(A)  eome @ (B) 1-m 6l & @enpeuns
(C) 1-mei flawns. D) -1&@EWb +1&@0 G uled
The maximum value of correlation coefficient is

W 1 ® 3

© o D) -1
@l (Hmeys Qaspeilern oiFlasulg iy

@ 1 ®B 3
© o0 @) -1
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25.  The geometric mean of the two regression coefficients byx and bxy is equal to

Wy - | ®) r?

© 1 D) r
B 2 Len Qsriy Gurse Aswssar byx wpmb bxy epHuaupher QuEmEsD syrsf
A r B) r?
© 1 @) r
26. Diagrammatic expression of relationship between two variables
(A) pie diagram qB) scatter diagram
(C) bar diagram (D) histogram
@\ wrdlsepsdlanCw 2 arer QBMLenU LILRISET ppad <HHlw 2 $6yb penm
(A) el eflerdsiiniib (B) &sped eflemdsiLLLD
(C) uleL efletdsliuLLD , D) ureue QFsususILLLD

0 If byx:—_;, bxyz_?S, then correlation coefficient r is

3 ‘ -3
A) — By ——
@ o wAb) 5
9 -9
0 = by
(©) 7 D)
g B S8
byx:? OMHMILD bxy=7 eTafled el (Hmeys Q& 7 yeg)
3 -3
Ky = —
(A) 5 B) 5
9 -9
C - D) —
©) 1 D) 2

28.  Three coins are tossed togéther, what 1s the probability of getting exactly two heads

3 : 1
A — B) —
(A) 1 (B) 3
1 3
c = oy =
© 3 | vAD) -
pperm BremTwmiseT Cr sowsdld sarLiuBdng aafle @m smasar wLHCWL Sl &s
Bspssa) | , |
3 1
Ay — B =
@ 5 ® -
1 3
c = o
&) 3 L =
9 g 117/DD/19
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29.

30.

81.

32.

33.

.The probability that an ordinary year contains 53 Fridays is |
2 : ; ;
(A) c B 0
3 1
(e A =
(T &wg)mym @@Lg;ﬁa} 53 Qauctaflss flipewser Q@UugnsTar Blsbsse,
2
(A) .. = B) 0
7
3 1
C = ) P
©) 2 (D) -
The variance of a binomial distribution is 2. Its standard deviation is
A4 2 : B) 4
© VvAD) 2
FrapMLILY ureuedlen wrmumr® 2 erated Sl L eSlevssid
(A)- 2 ' (B) 4
1
© 3 D) 2
The trials in a binomial distribution are _
(A) mutually exclusive (B) non-mutually exclusive
WC) independent : (D) non-independent
FE(BMILIL UFeuadled (pwmElsermeng) .
Q) qeaemplwrearm efles@eue (B) qea@mplwurearm ellewssrsame
(C) errupmeneu D) srrupDene e
var (bx+2) is
AA) 25 var(x) (B) 5 var(x)
(C) 2 var(x) (D) 25
var (5x +2) ererug '
(A) 25 var(x) : (B) 5 var(x)
(C) 2 var(x) (D) 25
Poisson distribution correspondents to.
qﬁ) rare events (B) _certain events

(C) impossible events (D) almost sure event

UmUFTeT LFeug)L e CSrLijenL e

Q)  <iflu Hapeslser B) LAl flspsfsar

©C)  peLQup wiywrs Hlepsdser (D) Quepburad Blésw Blapsfser

117/DD/19 . 10



34.

35.

36.

37.

Student's 't' distribution was pioneered by

(A)- Karl Pearson ~ (B) Laplace

(C) Spearman “D) William Gosset
eu@Le 't' Lreuedlem (penGenig.

(A) s Qwirgen B) erdme

(C) . ewSwrGwen (D) efNebedlwiid srlevi

Mode of the normal distribution is

1
A B —
@) o (B) or
Ao : . ™ 0
@uieblena LiFeuadler P&(
1
A : B) —
A) o (B) r
© » ® 0
The Chi S(:iuare ( ,1/2) test is rightly defined as
I. =1 i
2
=1 i 1
QéraumauaeupmieT ands euirss Corgamenler (32) sflurer eusrwienp
| s o (O, +E;) 2w (0, -E)
R T i
n 2 n _1Ih2
& B Lol o =3B

= : =1 i

When observed and expected frequencies completely coincide y will be

@ -1 @B +1
(C) greaterthan1 | WD) 0
serr_dlutiu’ L wdmib erdlfuriasliu@in wdlliLser &b craflé 2% —em iy
@ -1 | . ® w
(C)  1-mei Quilug D) o
11 ) 117/DD/19

[Turn over



L 8% :
38.  The test statistic Fzs—lz is used for testing
' 2

(A) Hy:p =g AB) H :¢l—o,

(C) Hj:op=0, @) < Hya*=cr
2

F:—lz— eranp  Gargenenr Lerefludlue eteney —————— o Carsenan Glauwiw
2

vweruHHmg).

(A) Hy:py=p, - (®B) H,:ct=a2

Q) Hyop=0, D) ‘Hy:e?=op

39. Five establishments are to be selected from a list of 50 establishments by systematic
random sampling. If the first number is 7, the next one is

A 8 (B) 16
AC) 17 ' ‘ D) 21
50 Ameueniger Qareari e Ll igwelambg 5 Bineiamtismar (pep sribg wrSlfl semflly
wepuier CampolsHss Cauamm(HLb. bepepuiled (pse ereat 7 eratled i(H & 6reir
@ 8 (B) 16 '
© 17 ' D) 21

40. Karl Pearson introduced the concept of standard deviation in the year

A) 1891 viD 1893
€ 1892 (D) 1896

s Gwirsen S Lellwsssamns A pstiuBSSHU euhHLLD
(A 1891 ' (B) 1893
(C) 1892 (D) 1896

117/DD/19 12
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Register
Number

DEPARTMENTAL EXAMINATIONS

DEPARTMENTAL TEST FOR THE MINISTERIAL STAFF OF THE
DEPARTMENT OF THE ECONOMICS AND STATISTICS -

(Without Books)

Maximum Time : 1.30 hours Maximum Marks : 60

IMPORTANT INSTRUCTIONS

DESCRIPTIVE TYPE
ellfleurer ellenL_wefl&@ b cuens eflearrégmer

Read the following instructions carefully before beginning to answer the
questions.

ellenrésEnée eflenweflss Qsm_riEh ey EDEEETL ifleyenTEmaT SIS Lilgdseld.

IS Answers in excess of the prescribed number of questions appearing at the end of the
answer book will not be valued.

eilenLsemer  GOLELRerer  crapenlismasE fswrs  awHA@muiar, famLgsreflar
Lnduled o erer oifls eramenisamsufarear eflanL g6 LHALISEH Qe rg.

2. In case of doubt, English version is the final.

clilamrssafler s6C550mUGem @ Bifla cugeiler Qar@ésiiul Harer elamésGer @midwreng.

PART -1

Answer any EIGHT questions : (8x3=24)
erevauGuignib el () eflamssenss eflen welléseyb :

1.  Define ‘Tabulation’. Mention the main parts of a table.
SiLLeuenanr) U(HSSme auerm. i Leuamenrulen psHlw L@Hsmers GHILAE@.

2. What do you understand by measure of ‘central tendency’?

@LWIGUTEE armeuser LDHl BeilT <iMeug) ereme?

[Turn over
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3. The average marks secured by 36 students was 52. But 1t was discovered that an
item 64 was misread as 46. Find the correct mean of marks.

36 wrepreuirsaien sprafl wHuGue 52. SiFld @@ wEliibluem 64 eragn@l Lflars 46 erer

Lig &aUiul_Lg). Qeent sapr_dlwliu’ L g erafld sflwren syraflaws srars.

4.  Find the Arithmetic mean, geometric mean and harmonic mean of 3, 6, 24, 48.

3, 6,24, 48 Qeupdlen syraf, QUmES srTafl LHYID Qs syraf srems.

5. Explain the terms :
(a) Skewness
(b) Kurtosis
"(¢) Moments.
oAleT& G,
(=) Garliid
(<) piewaray

(@) efledasid @u@é&@g QsTans.

6. Find the range and the coefficient of range.
43, 24, 38, 56, 22, 39, 45

43, 24, 38, 56, 22, 39, 45 Qeunler eiFs HYLD 6iFes Q&L U EIHDDE STEms.

T In a binomial distribution, the mean and standard deviation are 12 and 2

respectively. Find n and p.

@ FRHMILIL UTeuadléd e wHmb S eHlewssd wpapCGu 12 womib 2 erafles N wHMID

p Wer UL srems.

8. - - Write short notes on ‘stratified random sampling’.

L@@s e LA erHEED Wwap updl A GHILY SGS.

117/DD/19 2
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10.

11.

12.

/

i

If two regression coefficients are b, =

(S N

and b, - % What would be the value of 92

“

@\(® 2L an @;&_}";I'I'LI:I'I_] Curs Cspsser b =§ LHmD b, =% eretfled ‘7 -ar iy eTetian?

There are 7 defective items in a sample of 35 items. Find the probability that an item
chosen at random is non-defective.

35 Gummleer oddlu Csrgluy qade 7 QuiGlsd Gopur@® o el wer.
SQsTELldmBg @@  Qurmer  Fweumily  epeapule  CaipAs®aELEUTE 5
@e@purL_pp Hurmerts @Q@HUUSDHETET HlEpssey WM ?

PART - 1I

Answer any THREE questions : (3 x5=15)
creaGugd ppern el amrés@hsE eflevwafldsab :

The national income of the India for the years 1949-50 to 1951-52 at current prices
was 8650, 9010 and 9530 crores of rupees respectively and per capita income for
these years was 250, 256 and 267 rupees. The corresponding figures of national
income and per capita income at 1949-50 prices for the above three years were 8650,
8820 and 8850 corres of rupees and 250, 251 and 248 rupees respectively.

Present the above data in a table.

1949-50 &limpg 1951-52 eueyullooren pam(iaseier Gpdureier Caflu euomand BLLiLy
sflenasafier enpGu 8650, 9010 whmitb 9530 Gamgsar amHUTL Seor au(HLraDd wpanGu 250,
256 wpmd 267 murl. 2G5 werm emBseia 1949-50 elmeseafenuyg. GhSwureder
Geélw eugpomand 8650, 8820 whmid 8850 Camyg muml, Seor eumworead wenGu 250, 251
LHmID 248 eRLimil. '

CopseaL eSleufrismer i L euanenrIL()&s)s.

Write short notes on :
(a) Histogram

(b) Frequency curve
(c) Pie diagram

(d) Ogive

(e) Lorenz curve.

3 117/DD/19
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Epésan_apflo S GHLL 50
(1) upeued @5@@5QUI_Lb
(<) HapQeie eumarGar®
(@) eulL eflaTésuLL b
() @anseu
(2.) QTFeNG QUENETEIEDT.
13. The marks obtained by 10 students in a test in Mathematics are 80, 70, 40, 50, 90,

60, 100, 60, 30, 80.

10 wremreurseT a;mﬂg,‘é, Gaiefler Qupp wHLGUGTsE Gereumwrm, 80, 70, 40, 50, 90, 60,
100, 60, 30, 80. @bwdliLsersd S ellessh STars. '

14. Give 8x—10y+66=0 and 40x-18y =214. Find the correlation coefficient r. -

8x—10y+66=0 wpmbd 40x-18y =214 erens Qar(RssuLL (Herarar. U Hpays Cspmald

SHTETS.
15. (a) Define ‘Normal Distribution’. (1)
(b) Mention any four properties of Normal distribution. (4)

(=) QuidBlenad LIFeUEME — eueTLDI.

(=) Québlene Lreuaien LisiT 6T rCogd Brendleanar GOILITIHS.
PART - III

Answer any THREE questions. All qﬁestions carry equal marks.
- (3x7 =21)

GrsmuGuJ@JLb eparn  eflammésEnsE LLEWL  eflars eleLwefiEsab.  geaGleurd
ellamell D@L er(p m@ﬂ@us&waeﬁ -

16. Following are the runs scored by two batsman A and B in ten cricket matches. -
Ac: 10127 O '36 8245 7 13 656 14
B: 97 12 40 96 13 8 85 8 56 15

Who is more consistent batsman?

117/DD/19 4
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18. .

19.

10 HNsCs eflemerwr (Bl Curigseale @rav( wlel &ifiser aTOSS @LLBISGET
emeu(mLomm. HeUTEeTe gl L miseT ﬂ@ﬁug]ab W Fs Hlenass Semenin 2 enl_waeUi?

A: 101 27 0 36 82 45 7 13 65 14

B: 97 12 40 96 13 8 85 8 56 15

The mean and standard deviation of a group of 20 items was found to be 40 and 15
respectively. While checking it was found that an item 43 was wrongly written as 53.
Find the correct mean and standard deviation.

e yarafl efleursdla 20 wdisaiern sl () syrefl wpmibd S eflewssd wenGuw 40 whmib
15 erew sawrsSliul L an. sieneusaer sfumidgd Curgl 43 eremm wHUL seumsaors 53 erer
sl Lg Qsflu cubsg. arafld cuelleurtisaien sflwrer sl (B syrefl wHmbL S

eflwssd < dwenenns &meTs.

Weekly wages of labours are given below. Calculate the Quartile Deviation and
coefficient of Quartile Deviation.

Weekly Wages (Rs.) : 100 200 400 500 600

No.of Weeks : 5 8. 41, 12 - 8
Fa60lE Qg,_rr@eurrmr‘ra;aﬂsh auny ecafurigdar EC6p CarRasuul (HeTerar. HTOLTE 6lledsD -
wHMID srowTer 6lewsEss Q& LS weunannd saumédl(Hs.

auy esrdlwilb (em.) 100 200 400 500 600

QUITTEIGET eTETemlGens © D 8 21 12 6

Calculate Karl Pearson’s coefficient of correlation between the price (X) and quantify
supplied (Y).
Price X 4 6 8 15 20

Supply Y 10 15 20 25 30

clleney (X) LD[DQJLD <afiiiy (Y) &@ @ wlorear srie Slwrsefler L (hne| G&@Gﬁ)@u etreu (mLd
clleurmisetledl(BBg) Hamadl(Hs.

~eftanay X 4 6 8 15 20
gefloy Y 10 15 :20 25 30
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20. 'Two unbiassed dice are rolled once. Find the probability of getting.
(@) asum8 ‘ 2
(b) a doubiet

(c) asum greater than 8. .

B® Srmen UsS@LE @@ Wwop o-GLLUIu@danar. Epsstanbd Hepsdsepssrear fspssa). |
SIS ok

(21) s eramaatian é{:@gﬁb 8 <45 @)(HSSe0
(._-35;5) s Gré&tfra;erﬂs'm'@@y eraseTra (doublet) @SS
(=1) s eramasaian sa(se 8 &3 ML FlawoTs QHSSD.
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